LDK

BEARINGS &
i G, G
2-ds 2-ds
| #8120 | #in120° SLEEE
. I
[a] 'o| + oo +
! I
-8 J_ S -5 J_ S UC200G
B B
9 U5k
Uc200 CuC200 PR Lomas
T 44 SR T ER B 7 h T2 oM ERE TSR R
UC200 CUC200 UC200L3 %31
2 EE R~ (mm)
thik 3 o aEDE | AENE | 58
= ~ Ca [ (N &7 (N
s oNED D B (o3 S S1 G (mm) [(in.UNF) FAN) [ B IN) | (kg)
UCW201 12 M5x0.8
=1 ™ 40 27.4 14 1.5 | 159 42 1032 | 41 9550 4780 0.12
UCW202 15 M5x0.8
2029 | 9/16 40 27.4 14 11.6 | 15.9 4.2 4.1 9550 4780 0.11
202-10 | 508 10-32
UCW203 17 M5x0.8|
203-11 | 11/16 40 27.4 14 11.5 15.9 4.2 10-32 4.1 9550 4780 0.10
uc201 12 Méx1
201-8 12 a7 | 17 12.7 18.3 5 1/4-28 4.3 9550 4780 0.21
UC202 M6x1
202-9 o116 | 15 47 31 17 127 | 183 5 4.3 9550 4780 0.19
202-10 5/8 1/4-28
Uc203 : M6x1 0.18
e el & 47 31 17 127 | 183 5 riom|| £ 9550 4780 Vo
UC204 20 M6x1 0.17
s04i2 | a4 47 31 17 127 | 183 5 1a2g| 43 | 12820 6650 0.18
Uc205 M6x1 0.19
205-13 | 1316 | 25 0.22
205-14 718 0.21
205-15 15/16 52 34.1 17 14.3 19.8 5.4 1/4-28 4 14030 8050 0.20
205-16 1 0.19
Uc206 30 M6x1 031
206-17 1-116 0.34
206-18 | 1-1/8 62 38.1 19 159 | 222 55 1/4-28| 63 | 10470 | 11430 | 0.33
206-19 | 1-3/16 0.32
206-20 | 1.1/4 0.30
ucao7 35 M8x1 0.46
207-20 | 1-1/4 0.52
207-21 | 1-5/16 72 42.9 20 17.5 | 25.4 6.9 5116-24) 5.8 | 25680 | 15550 | 0.51
207-22 1-3/8 0.48
207-23 | 1-7/16 0.46
UC208 20 M8x1 0.63
208-24 | 1-1/2 80 49.2 21 19.0 | 302 8 5(16-24| 6.2 | 29510 | 18140 | 0.68
208-25 1-9/16 0.64
uczo9 45 M8x1 0.68
200-26 | 1-5/8 y 0.78
sl [ 85 49.2 22 19.0 | 30.2 8 5(16-24| 6.5 | 31850 | 20800 | 078
209-28 | 1-3/4 0.70
ucz210 50 M10x1.25 0.78
21080 [1-7/8 90 | 516 | 24 190 | 326 | 10 a/g-24| 7 | aaosgo | 28700 | 085
210-31 1-15/16 0.80
210-32 2 0.78
uca11 55 M10x1.25 1.07
211-32 2 122
2SS (k25116 100 | 556 25 222 | 334 10 3/8-24| 7.4 | 43340 | 20300 | 1.16
211-34 2-1/8 1.10
211-35 | 2-3/16 1.05
= ucz12 60 M10x1.25 1.51
g 212-36 | 2-1/4 1.65
b 212-37 | 2.5/16 110 | 65. 27 254 | 397 10 3/8-24| 7.6 | 47680 | 33430 | 150
= 212-38 | 2-3/8 1.52
£ 212-39 | 2.7/16 1.42
s Ucz13 65 M10x1 25 1.86
i 213-39  |2.7/18 120 | 651 28 254 | 397 10 3/8-24| 8.5 | 57200 | 40010 | 1.06
= 213-40 | 2112 1.94
= Uc214 70 M12x1.25] 2.18
= 214-43 | 2-11/16 125 | 748 29 30.2 | 44.4 12 7116-20] 8.9 | 62190 | 43900 | 508
g 214-44 | 2-3/4 2.06
- UC215 75 Wi2x1.25 2.21
a 215-47 | 2-15/16 130 | 778 30 333 | 445 12 716200 9.2 | 62080 | 44820 | 2.30
£ 215-48 3 213
UC216 80 140 82.6 33 333 | 49.3 12 M12x1.25 9.5 72620 53340 2.79
Uc217 85 W2x1.25| 3.38
e s 150 | 857 35 34.1 | 516 12 7He-20| 111 | 83150 | 64540 | S
uc218 90 M12x1.25 4.46
B99 sia-5a || aip 160 | 96 37 307 | 563 12 e.20| 118 | 95840 | 72640 | Y




LDK

BEARINGS
&
| G ~Ca.
[2-ds |
_& E120
‘ ’ ‘ \ R\ﬂ
o= “ ‘ | SLmms
| ; |
| |
|
S St T
B UC300G
ucs00 QE:RERCE]
UC300 Series BTHASNRERMR
ik mdﬁ i - mEmE | memE | mE
k] & (N) B (N)
= (in) | (mm) D B ¢ S S G [ m [onuns| 2 (ko)
uc305 25 MEXT
30514 | 7i8 62 38 21 15 23 6 14-28 | 6.4 | 22460 11570 0.4
305-15 | 1516 ’ ’
305-16 | 1
uc306 30 MeX1
306-18 | 1-1/8 72 43 23 17 26 6 1428 | 71 27140 15200 056
306-19 | 1-3/16
uc3o07 35 MBX1
gg;j? 117'51/12 80 48 25 19 29 8 5/16-24| g 33530 19220 0.71
307-22 | 1-38
UC308 40 M10X1.25
308-24 | 1-1/2 90 52 27 19 33 10 3/8-24 | 9 40960 24010 1.00
308-25 | 1-9/16
UCc309 45 M10X1.25
309-26 | 1-5/8
a00.27 |1-11116 100 57 30 22 35 10 3/8-24 | o5 53330 32190 1.28
300-28 | 1-3/4
uc310 50 M12X1.25
310-30 | 1-7/8 110 61 32 22 39 12 7116-20| 10.5 | 62380 38320 1.65
310-31_|1-15/16)
ucsii 55 M12X1.25
311-32 | 2 ' ]
1134 | 578 20 66 34 25 41 12 711820 11 72050 44970 207
311-35 | 2-3/16
uc312 60 M12X1.25
212;2 i;g 130 71 36 26 45 12 7/16-20| 11.5 | 82330 52160 2,59
312-39 | 27116
UC313 65 M12X125
G15d0 | 34 140 75 38 30 45 12 216.p0| 125 | 94540 60820 3.15
R 701 450 78 40 33 45 1 [ 13.2 | 104700 68130 3.83
314-44 | 234 7/16-20
ucsis 75 M14X15
sigag | 3 160 82 42 32 50 12 oo | 1| 113970 78660 459
uc3ie 80 | 170 86 44 34 52 14| M14X15 14.9 | 123460 88180 5.40 =t
ucai7 85 M1EX1.5 S
317-52 | 21 180 96 46 | 40 56 16 sos | 16| 139160 98250 6.56 g
Hes | 4e0 | o6 48 | 40 56 e MO8 17.3 | 144670 110500 7.34 =
318-56 | 3-1/2 5/8-18 =
uca1g 95 Mi6X15 =
31960 | 3.3 200 | 103 | 50 | 41 62 16 sag | 183 | 196680 122070 8.70 §
Beaz0 1001 215 | 108 | 54 | 42 66 o 20 | 173140 140670 10.80 E3
320-64 4 5/8-18 %
uca21 105 | 225 | 112 | 56 | 44 68 18 |Mmi8x1.5 208 | 183700 153200 12.20 &
uc322 110 | 240 | 117 | 60 [ 46 71 18 | M18x1.5 20.9 | 206800 179900 14.30 g
uCc324 120 260 126 64 51 75 18 M18X1.5 22.9 228000 208600 18.50
uc326 130 | 280 | 135 | 68 54 81 20 | M20x15 24.9 | 274200 273700 | 23.00
ucazs 140 | 300 [ 145 [ 72 59 86 20 [M20x15 26.9 | 296900 306500 | 28.50




LDK

BEARINGS
c
7 Tz @
2ds
@m120
‘ f SLEIEE
i @D
| TR
s = UCX00G W
B pEfTE]
ucxoo Lot
LN TR
UCX00 UCX00L3 %351
%
ik B AR mEE | wewE| m2
s d b |B|c | s|si|a ds ca |®N) BN | (o)
(in) [ (mm) (mm) | (in.UNF)
UCX 05 25 MeX1
05-13 | 13/16
05-14 718
05-15 | 15/16 62 38.1 19 15.9 22.2 5.5 1/4-28 5.3 19470 11430 0.39
0516 | 1
UCX 06 30 M8X1
06-17 | 1-1/16
06-18 | 1-1/8 72 | 429 | 20 | 175 | 254 | 6.9 5/16-24 | 5.8 | 25690 | 15550 | 0.68
06-19 | 1-3/16
06-20 | 1-1/4
ucx 07 35 MBX1
07-21 | 1-5/16
07-22 1-3/8 80 49.2 21 19 30.2 8 5/16-24 6.2 29510 18140 0.82
07-23 | 1-7/16
ucx 08 40 M8X1
08-24 1-1/2
08-25 | 1-9/18 85 49.2 22 19 30.2 8 5/16-24 6.5 31850 20800 0.93
UCX 09 45 M10X1.25
09-26 1-5/8
09-27 |1-11/16 90 | 516 | 24 19 | 326 | 10 3/8-24 7 | 34990 | 23700 | 1.00
09-28 | 1-3/4
ucx1o 50 M10X1.256
10-30 | 1-7/8 100 | 55.6 | 25 | 222 | 33.4 | 10 3/8-24 | 7.4 | 43340 | 29390 | 1.35
10-31 | 1-15/16
ucx11 55 M10X1.25
11-33 | 2-1/16
11-34 2-1/8 110 65.1 27 254 39.7 10 3/8-24 7.6 47680 33430 1.90
11-35 2-3/16
11-36 | 2-1/2
ucxi12 60 M10X1.25
12-38 | 2-3/8 120 | 651 | 28 | 254 | 397 | 10 3lg-24 | 85 | 57200 | 40010 | 2.27
12-39 | 2-7/16
ucx13 65 M12X1.25
13-40 2-1/2 1256 74.6 29 30.2 44.4 12 7/16-20 8.9 62190 43900 2.45
13-41 2-9/16
ucx14 70 M12X1.25
14-42 | 2-3/8
g 14-43 | 2-11/16 130 77.8 30 33.3 44.5 12 7/16-20 9.2 62080 44820 2.47
3 14-44 | 2-3/4
gi UCXx15 75 M12X1.25
-g 15-45 |2-13/16
P 15-46 | 2-7/8
8 1547 | 2516 140 | 826 | 33 | 333 | 49.3 | 12 711620 | 9.5 | 72620 | 53340 | 3.11
5= 15-48 3
; UCx186 80 M12X1.25
H 16-49 | 3116
2 16-50 | 3-1/8 150 | 857 | 35 | 341 | 51.6 | 12 7/16-20 | 11.1 | 83150 | 64540 | 3.79
I 16-51 | 3-3/16
= ucx17 85 M12X1.25
17-63 | 3-5/16
1725|3718 160 | 96 37 | 397 | 563 | 12 1/2-20 | 11.8 | 95840 | 72640 | 4.82




LDK

BEARINGS
o} Bz
: ds &
) sLEEs
’ |l
ool 4 + r — 5
1 TIREH
s
B NA200G
NA200(HC200 UEL200) Lamst
i E MR ER G
NA200 NA200L3 %%l
7
" Wi AR (mm) mESY | wEmR | EBE
ne = “(mm) D|B|c|s|[Bi|B|di]|a (mm)dzn.UNF) ca| ®(N) | @(N) | (kg)
NA204 20 MeX1
47 | 342 | 17 | 171 | 43.7 | 135|333 | 5 1/4-28 | 4.3 | 12820 6650 0.21
204-12 | 314
NA205 25 Mex1
205-14 7/8
20615 | 1516 52 | 349 | 17 | 17.5 | 44.4 | 135 (381 5 1428 | 4 14030 8050 0.25
205-16 il
NAZ06 30 MeX1
206-17 1-1/16
206-18 | 1-1/8 62 | 36.5 | 19 18.3 | 484 | 159 (445 6 1/4-28 | 5.3 | 19470 11430 0.39
206-19 |1-3/16
206-20 1-1/4
NAZ07 35 Max1
207-20 1-1/4
207-21 [1-5/16 72 | 376 | 20 18.8 | 1.1 | 17.5 |55.6 | 6.5 5/16-24| 5.8 | 25690 15550 0.60
207-22 | 1-3/8
207-23 [1-7/16
NAz08 40 Mex1
208-24 | 1-1/2 80 | 428 | 21 21.4 | 56.3 [ 18.3 [60.3 | 6.5 5/16-24| 6.2 | 29510 18140 0.77
208-25 |1-9/16
NA209 45 MBX1
209-26 | 1-5/8
e 85 | 428 | 22 | 21.4 | 56.3 | 18.3 |63.5 | 6.5 5/16-24| 6.5 | 31850 20800 0.84
209-28 1-3/4
NA210 50 M8X1
210-30 | 1-7/8
210-31 |1-15/18) 90 | 492 | 24 246 | 627 | 183 [699 | 65 5/16-24| 7 34990 23700 1.02
210-32 2
NA211 55 [M10X1 25|
211-32 2
I 100 | 555 | 25 |27.80| 71.4 | 207 |762| 8 3/8-24 | 7.4 | 43340 29390 1.37
211-33 | 2-1/16
211-34 | 2-1/8
211-35 2-3/16
NA212 60 M10X1.25
212:36 | 2-1/4
212-37 | 2-5/16 110 | 61.9 | 27 |31.00| 77.8 | 22.3 |84.2| 8 3/8-24 | 7.6 | 47680 33430 1.85
212-38 2-3/8 E‘:
212-39 |2-7/16 a
NA213 = M10X1.25] ?
213-39 |2-7/16 120 | 68.6 | 28 |[34.30 85.7 | 23.5 | 86 | 8.5 3/8-24 | 8.5 | 57200 40010 2.10 =
213-40 | 2-1/2 E
NAZ14 70 M10x1.25 %
214-43 [2-11/16 126 | 68.6 | 20 |34.30| 857 [ 23.5 | 90 | 8.5 3/8-24 | 8.9 | 62190 43900 2.34 g
214-44 | 2-3/4 Q
NA215 75 M10x1.25 2
215-47 |2-15/18] 130 75 30 37.3 | 921 | 235 | 102 | 8.5 3/8-24 | 9.2 62080 44820 2.50 &
215-48 3 8
=




LDK

BEARINGS
SLEIE S
TR
NA300G (E%51)
AR
NA300(HC300 UEL300)
NA300 Z35i RS INRERR R
ES
AR (mm SRS (N)
g,@ W E AR (mm) .
= d d T | BEE | (kq)
s s g
Gl@m] P | B | €| S| Bi|B|a | 6| ca|TE¥| R
NA305 25
305-14 | 7/8
aoseis |sie 62 | 249 | 21 | 167 | 468 | 159 | 428 | & |Msx1| 6.4 | 22460 | 11570 | 0.4
305-16 | 1
NA306 30
306-18 | 1-1/8 72 | 365 | 23 | 175 | 50 [175 | 50 7 | mext| 7.4 | 27140 | 15200 | o0.68
306-19 |1-3/16
NA307 35
30720 | 1-1/4
307521 |"-5118 80 | 381 | 25 | 183 | 516 | 175 | 55 7 | Mext| & |a3sao| 19220 0.80
30722 | 1-3/8
307-23 [1-7/16
NA308 40
g || amm 90 | 413 | 27 | 198 | 571 | 206 | 635 | 8 |wox2s 9 | 40960 | 24010 | 1.08
308-25 |1-9/16
NA309 45
309-26 | 1-5/8
s00zr haimd 100 | 42.9 | 30 | 198 | 58.7 | 206 | 70 8 |miox125 9.5 | 53330 | 32190 | 1.45
309-28 | 1-3/4
NA310 50
310-30 | 1-7/8 110 | 402 | 32 | 246 | 66.6 | 222 | 762 | 9 |wioxt2s| 10.5 | 62380 | 38320 | 1.86
310-31 [1-15/14
NA311 55
31132 | 2
211-33 |2-1/16 120 | 566 | a4 | 278 | 73 | 222 | 83 o |mioxt2s 11 | 72050 | 44870 | 2.30
311-34 | 2-1/8
311-35 |2-3/16
NA312 60
312-36 | 2-1/4
312-37 |2-5/16 130 | 619 | 36 |3095| 794 | 239 | 89 9 |miox125 115 | 82330 | 52160 | 2.89
312-38 | 2-3/8
312.30 |2.7/16
NA313 65
313-40 2-1/2 140 65.1 38 32.55 85.2 27 97 11.5 |M12x1.25| 12.5 94540 60820 3.66
NA314 70
e ada | 2.3 150 | 68.3 | 40 |34.15| 921 | 30.2 | 102 | 12 |Mt2x125 13.2 |104700| 68130 | 4.50
8 NA315 75
& 160 | 74.6 | 42 | 37.3 | 100 | 31.8 | 113 | 13 |Miext5| 14 |113970| 78660 | 5.34
@ 31548 | 3
=
= NA316 80 | 170 | 81 | 44 | 405 | 106.4| 318 | 119 | 13 |wmiexi5| 149 |123460| 88180 | 6.70
[}
o NAB17 85
= v | il 180 | 841 | 46 |4205| 1095|318 | 127 | 13 |Mi6d5| 16 |133160| 98250 | 7.96
z NA318 90
S 190 | 87.3 | 48 |43.65| 115.9| 36.5 | 133 | 14.5 |M20xt.5| 17.3 |144670| 110590| 9.10
= 318-56 | 3-1/2
= NA319 95
F 200 | 937 | 50 | 389 | 1223|365 | 140 | 145 |m20xt5| 18.3 [156680| 122070| 10.40
= 31960 | 3-3/4
NA;;EGA . 100 | 515 | 100 | 54 | 50 | 1286|365 | 146 | 145 |M20xi5| 20 |173140| 140670| 13.00

w
=
o
w




LDK

BEARINGS
c B
_ ds & _
Y
[ e ] st
] LN o |
0| ol + A o [a]R-]
I
‘ ST
5]
B1
_ SA200(2731) C5A200 5A200G
L ESMR TR RSN B TTER B PESEEE
SA200 CSA200 &7
R e EAR < (mm) HAGERS (N) BB
R _ ds DEE | EEE | (k
S [ [ 0 [ (BN (e s e |E 21 fdil Neh remmors Sk [ cor || &9
SA 201 12 M6x1
201-8 12 40 | 191 12 | 6 |2086[135|286 | 5 1/4-28| 3.5 9550 4780 0.2
5A 202 15 M6x1
202-9 9/16 40 1y 12 6 28.6 (13.5|28.6 5 1/4-28| 3.5 9550 4780 0.2
202-10 5/8
SA 203 Yo 4o [191] 12 | 6 | 286|135 |286| 5 |"" |1a28] 35 9550 4780 0.2
203-11 11/16 ) ) : ) ) )
20 M6x1
SA 200 47 | 215| 14 | 7 | 31 [135 (333 5 *"4a-28| 4 12820 6650 0.21
204-12 3/4
SA 205 25 M6x1
205-13 | 13116
205-14 718 52 | 22|15 | 7.5 | 315|135 (381 | 5 1/4-28| 4.3 14030 8050 0.25
205-15 | 15/16
205-16 1
SA 206 30 M6x1
206-17 | 1-1/16
206-18 1-1/8 62 (238 | 16 | 8 [357(159 |445| 6 1/4-28| 4.9 19470 11430 0.39
20619 | 1-3/16
206-20 1-1/4
5A 207 35 M8x1
207-20 1-1/4
20721 | 1-5/16 72 | 254 | 17 | 85 | 38.9|17.5 [556 | 6.5 5/16.24| 5.5 25690 15550 | 0.6
207-22 1-3/8
207-23 | 1-7/16
SA 208 40 M8x1
208-24 1-1/2 80 (302 | 18 | 9 |43.7|183 |603 | 65 516-24| 6 20510 18140 | 0.77
208-25 | 1-9/16
SA 209 45 M8x1
20926 | 1-5/8 85 [302] 19 | 05 | 437|183 |635 | 65 51624 6.1 31850 20800 | 0.84
209-27 |1-11/16
209-28 1-3/4
SA 210 50 M8x1
20030 Rl 90 [30.2 | 20 | 10 | 43.7|18.3 [69.9 | 6.5 5/16-24| 6.6 34990 23700 1.02
210-31  |1-15/16 -
210-32 2 =
SA211 55 M10x1.25 =
211-32 2 =
211-33 2-1/16 100 | 3256 | 21 10.56 | 48.4|20.7 [ 76.2 8 3/8-24| 7.2 43340 29390 1.37 §
211-34 2-1/8 =
211-35 2-3/16 g
SA212 60 Mi0x1.25 &
212-36 2-1/4 =
212-37 | 2-5/16 110 [37.2 | 22 | 11 |53.4 223 [842| 8 3/8-24| 7.5 47680 33430 1.85 &
212-38 2-3/8 a
21239 | 2-7/16 8

it 1) BEG=MEH MG,
2) REN=ERRE, RamBimIL, RnEasmEasTl.

w
=
o
=




LDK

BEARINGS
c c
| < | Bl
2-ds 2-ds
B#E120° | @k120°
T T
ALl e
| | \ e
| I
o| s ——+ -— ol os| H—+ .
1
T
| I
s.| St s.| St SB200G
| | EET LR
B B
SB200 CSB200
LSRRG L 5D B TR
SB200 CSB200 %51
12 2R <t (mm) ERTEHE (N)
B i o s
L - D|B|c|s [s|e¢€ Ca | 8 HEA | (kg)
(in) (mm) (mm) (in.UNF) Cr Cor
SB201 12 M5x0.8
2018 i 40 | 22 | 12 | 6.0 | 16.0 | 4.9 10-32 | 35| 9550 4780 0.09
SB 202 15 M5x0.8
202-9 916 40 22 12 6.0 | 16.0 | 4.9 a5 9550 4780 0.08
202-10 5/8 10-32
SB203 17 M5x0.8
50311 1118 40 | 22 | 12 | 80 | 180 | 49 10-32 | 35 9550 4780 0.07
SB204 20 M6x1
S ) 47 | 25 | 14 | 7.0 | 180 | 5.0 1ia-zs | 4 12820 6650 0.12
SB 205 25 Méx1
205-13 13/16
205-14 718
20515 15116 52 | 27 | 16 | 7.5 | 195 | 55 1/4-28 | 4.3 | 14030 8050 0.18
205-16
SB 206 30 M6x1
206-17 1-1/16
206-18 1-1/8 62 | 30 | 16 | 80 | 220 5.9 1/4-28 | 4.9 | 19470 11430 | 0.26
206-19 1-3/16
206-20 1-1/4
SB207 35 M8x1
207-20 1-1/4
207-21 1-5/16 72 | 32 | 17 | 85 | 235 80 5(16-24| 55 | 25690 15550 | 0.43
207-22 1-3/8
207-23 1-7/16
SB 208 40 M8x1
208-24 1-1/2 80 | 34 | 18 9 | 250 80 6.0 | 29510 18140 | 0.60
208-25 1-0/16 5/16-24
o8 0026 1em | *° Méx
200.27 111118 85 | 36 | 19 | 95 | 31 | 8.0 6.1 | 31850 20800 | 0.80
209-28 1-3/4 5/16-24
SB%}g I 78 50 M10x1.25
210-31 1415016 90 | 38 | 20 | 10 | 326 | 10.0 3/8-24 | 6.6 | 34990 23700 | 0.83
£ 210-32
8 SB 211 E5C M10x1.25
@ 211-32 2
= 211-33 2.1/16 100 | 40 | 21 | 10.5 | 32.6 | 10.0 3/8-24| 7.2 | 43340 29390 | 1.12
= 211-34 2-1/8
s 211-35 2-3/16
2 SB212 600 M10x1.25
By 212-36 2-1/4
=) 212-37 2-5/16 110 | 42 22 11 | 3286 | 10.0 3/8-24| 7.5 | 47680 33430 | 1.55
212-38 2-3/8
§ 212-39 2-7/16
2
=
8 &it: 1) BEG=ME R ERHTL,
e 2) FEN=3ERE, RipmERmel, RaEasTfmEmRsT,




LDK

BEARINGS
r
I
al o] —+ 4
=
HEYZE JERIE
I
B
uD200
UD200 %31
E AR~ (mm BAEHSE (N)
ETp A ; ==
)2 ZhEkser B (kg)
= d D B S r & ot

ubzo3 17 40 12 6.0 1.0 9550 4780 0.07
uD204 20 47 14 7.0 1.5 12820 6650 0.12
uD205 25 52 15 S 1.5 14030 8050 0.18
uD206 30 62 16 8.0 1.5 19470 11430 0.26
ub207 35 72 17 8.5 2.0 25690 15550 043
ubD208 40 80 18 9.0 20 29510 18140 0.60
ubDz09 45 85 19 9.5 20 31850 20800 0.8
UD210 50 90 20 10.0 2.0 34990 23700 0.83
ubz11 66 100 21 10.5 20 43340 29390 1.12
uD212 60 110 22 11 2.0 47680 33430 1.55

=7
=
°
=
£
£
2
(=T
7l
o
[0}
o}
=}
=
«
2
Q
°
=




LDK

BEARINGS

B

o]

|

== 1:12 ‘ @
I ol g SLBEH
| g i
TUEEH
UK200 UK200G
EHEFL MR E R IR
UK200 %71

EiE AR (mm) RAEHE (N) B8
s d1 d D B c Ca B Cr WA Cor (kg)
UK205 20 25 52 23 17 4 14030 8050 0.21
UK206 25 30 62 26 19 5.3 19470 11430 0.31
UK207 30 35 72 28 20 5.8 25690 15550 0.46
UK208 35 40 80 29 21 6.2 29510 18140 0.63
UK209 40 45 85 30 22 6.5 31850 20800 0.68
UK210 45 50 90 32 24 7 34990 23700 0.78
UK211 50 55 100 36 25 7.4 43340 29390 1.07
UK212 55 60 110 38 27 7.6 47680 33430 1.51
UK213 60 65 120 40 28 8.5 57200 40010 1.86
UK215 65 75 130 43 30 9.2 62080 44820 2.21
UK216 70 80 140 45 33 9.5 72620 53340 279
UK217 75 85 150 46 35 T 83150 64540 3.38
UK218 80 90 160 47 37 11.8 95840 72640 4.48

i3
15}
2
@
o)
£
I
b
5
=
=
2
3
32
=
ol
=
=

w
¢
o
B




LDK

BEARINGS
B
G
|
=112 | 1
| ! olo sLmEs
|
|
TumE S
UK300 UK300G
B PR F BRI R AR
UK300 #51
R R R < (mm) FATEHE (N) =g
s d1 d D B © ca WRACr | B Cor ko)
UK305 20 25 62 27 21 6.4 22460 11570 0.40
UK306 25 30 72 30 23 7. 27140 15200 0.46
UK307 30 35 80 33 25 8 33530 19220 0.75
UK308 35 40 90 35 27 9 40960 24010 0.81
UK308 40 45 100 38 30 9.5 53330 32190 1.19
UK310 45 50 110 40 32 10.5 62380 38320 1.38
UK311 50 55 120 43 34 1 72050 44970 1.78
UK312 55 60 130 47 36 1.5 82330 52160 2.06
UK313 60 65 140 49 38 125 94540 60820 2.71
UK315 65 75 160 55 42 14 113970 78660 3.98
UK316 70 80 170 55 44 14.9 123460 88180 4.55
UK317 75 85 180 60 46 16 133160 98250 5.44
UK318 80 20 190 60 48 17.3 144670 110590 6.25
UK319 85 95 200 66 50 18.3 156680 122070 7.31
UK320 90 100 215 68 54 20 173140 140670 8.82

=
=
B
=
£
2
2
=
i
o
@
)
=
«
el
Q
(=]
=]




=
5]
2
]
@
=
i=
<
©
2
~
=)
=
=
o
=
=

los)
=,
(=]
o

LDK

BEARINGS

2-ds

SLEVEE
alol
TIREH
# AR
SER200 %3
e BEARRTF(mm) HARFEHT (N)
iR < EE
Be D2 ds e | Wi | (ko)
G Jmm| P [B [C| S |S|a|r [pw|C [mm [anung| C? Cr Cor
12 M6X1
SER 201 47 | 31 [ 159|103 |20.7 (238 [1.07 [527| & 4.05| 9550 | 4780 | 0.27
201-8 | 112 1/4-28
SER 202 15 M6X1
202-9 9/16 47 31 15.9 | 10.3 | 20.7 [ 2.38 | 1.07 | 52.7 5 4.05 9550 4780 0.25
202-10| 5/8 1/4-28
SER 203 17 MEX1
203-11| 11/16 47 31 15.9 | 10.3 | 20.7 [ 2.38 | 1.07 | 52.7 5 11428 4.05 9550 4780 0.23
SER 204 20 M6X1
204-12 3/4 a7 31 15.9 | 10.3 | 20.7 | 2.38 | 1.07 | 52.7 5 1/4-28 4.05| 12820 6650 0.22
SER 205 25 MéX1
205-13| 13/16
205-14| 718 52 [34.9 | 19 [13.1 (21,8 |2.38|1.07 |57.9| 5.3 1/4-28 | 5.5 | 14030 | 8050 | 0.28
205-15| 15/18
205-16] 1
SER 206 30 MEX1
206-17| 1-1/16
206-18| 1-1/8 62 | 3841 |222|15.9|222(3.18 [ 1.65|67.7| 55 1/4-28 | 55 | 10470 | 11430 | 0.38
206-19| 1-3/116
206-20| 1-1/4 | S | W
SER 207 35 M8X1
207-20( 1-1/4
207-21| 1-5/16 72 | 429 |238| 175|254 |3.18 | 165|786 | 6.4 5/16-24 | 6.3 25690 15550 0.56
207-22| 1-3/8
207-23| 1-7/16
SER 208 40 M8X1
208-24| 1.1/2 80 |49.2 | 27.8| 19 [302(3.18 [ 1.65|86.6| 8 5M6.24 | 75 | 29510 | 18140 | 0.87
208-256| 1-9/16
SER 209 45 M8Xx1
209-26| 1-5/8 5/16-24
209-27| 111116 85 |49.2(27.8| 19 | 30.2(3.18 [1.65[916| 8 7.5 | 31850 | 20800 | 0.95
209-28| 1-3/4
SER 210 50 M10X1.25
210-30| 1-7/8
210-31| 11516 90 (516 |286| 19 |326|3.18 | 241|965 10 3/824 | 6.8 34990 23700 1.03
210-32| 2
SER 211 55 M10X1.25
211-32 2
211-33| 2-1/16 100 | 56.6 | 30.2 | 22.2 | 33.4 | 3.18 | 2.41 |106.5| 10 3824 | 7.6 | 43340 | 29390 | 1.21
211-34| 2-1/8
211-35| 2-3/16
SER 212 60 M10X1.25
212-36| 2-1/4
212.37| 2-5/16 110 | 65.1 | 31.8 | 25.4 | 39.7 | 3.18 | 2.41 {116.6| 10 ygoq | 84| 47680 | 33430 | 168
212-38| 2-3/8
212-39| 2-7/16




LDK

BEARINGS
c
C:
2 ds
N &
J Y SLEE
B
0| o | o =l .=
I
B TIREH
s B2
5 B 5
RO ESM R R
UE200 %7%I
EHAR (mm EARIRENT (KN)
e A (mm) -
e BHEE | BHES | (kg)
lEE D B (e S S1 B1 B2 d1 ds Ca Cr Ciit
UE204 20
47 31 17 | 127 | 183 | 33.0 | 95 | 40.8 | M4x0.7 43 | 12820 | 6650 | 0.18
204-12 | 3/4
UE205 25
200213 [ 1348 52 | 341 17 | 14 19.8 | 354 5 | 49.0 | Mdx0.7 4 21
| &) i f 9. 9. X0. 0.
e || om 14030 | 8050
205-15 | 15/16
205-16 1
UE206 30
206-17  |1-1/16
206-18 | 1-1/8 62 | 38.1 19 | 159 | 222 | 39.8 | 9.5 | 555 | M4x0.7 53 | 19470 | 11430 | 0.33

206-19 | 1-3/16
206-20 1-1/4

UE207 35

207-20 | 1-1/4

207-21 |1-5/16 72 | 429 | 20 | 175 | 254 | 43.9 | 11.0 | 64.0 | M5x0.8 5.8 | 25690 | 15550 | 0.51
207-22 | 1-3/8

207-23 |1-7/16

UE208 40

208-24 | 1-1/2 80 | 492 | 21 | 19.0 | 302 | 50.2 | 11.0 | 68.0 | M5x0.8 6.2 | 20510 | 18140 | 0.68
208-25 |1-9/16

UE209 45

209-26 1-5/8
209-27 |1-11/16|

85 49.2 22 19.0 | 302 | 50.2 | 11.0 74.0 | M5x0.8 6.5 | 31850 20800 | 0.78

209-28 | 1-3/4
UE210 50
21080 | 1-7/8
90 | 516 | 24 | 19.0 | 32.6 | 526 | 145 | 81.0 | Mox1 7 | a4990 | 23700| 0.85
210-31  [1-15/16
210-32 2 =
°
UE211 55 =
21132 | 2 -
21133 |21/16 100 | 556 | 25 | 222 | 334 | 56.6 | 145 | 92.0 | Mext 7.4 | 43340 | 29300 | 1.16 H
211-34 | 2-1/8 =
o
211-35 | 2-3/16 g
UE212 60 =
212:36 | 2-1/4 &
01237 |2.518 110 | 651 | 27 | 254 | 39.7 | 666 | 17.5 | 103.0 |M8x1.25 | 7.6 | 47680 | 33430 | 1.59 8
S

212-38 2-3/8
212-39 2-7116




